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Reading Notes
Typos:
Pg 76, eq 2-92a, units on R should read K-1 rather than K

Pg 55, 11 lines from the bottom, [] represent molar concentrations

Pg 56, Table 2-5, 1st order integrated solution ln([A]/[A0]) = -kt

Example 2-16 is wrong in its nomenclature.  See class notes.
Class Activities

1.  Consider the salt, aluminum hydroxide, which has the following solubility product:

Al(OH)3(s) = Al3+ + 3OH-;  Ksp = 5x10-33
(a)  Is a solution containing [Al3+] = 10-13 M and [OH-] = 10-7 M saturated?

(b)  At what pH would the solution with the aluminum concentration in part (a) be saturated?

(c)  Suppose we raise the pH to 8 and then drop some solid Al(OH)3 into the solution.  Would the Al(OH)3 we added dissolve?  Why or why not?

(Answers:  no, 7.57, no)

2.  A reservoir received 10,000 AF of water in one year and discharged 8000 AF.  If the TSS of the inflow averaged 400 mg/L and the TSS of the discharge averaged 20 mg/L, how much silt (in metric tons, Mg) accumulated in the reservoir?  Answer:  4731 Mg

3.  A river has a TDS of 400 mg/L.  An olive factory wants to discharge a brine (concentrated salt solution) with 10,000 mg/L TDS into the river.  The Regional Water Quality Control Board says that the TDS of the river must not exceed 500 mg/L to protect irrigation uses downstream.  If the river has a flow of 100 m3/s, what flowrate of brine can the olive factory discharge?  Answer: 1.05 m3/s


